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rate/cell by loop module ID
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difference between noise rate and mid-tray fit

N
o
|

=
ol

=
o

ol

PR L g %ﬁﬁ

o{

Mwyuw

o1

AN
o

_151_|||||||||||||||||||||||||||||||
0 20 40 60 80 100 120 140



rate/cell by tray module ID, TrayIDinLoop=0 rate/cell by tray module ID, TraylDinLoop=1 rate/cell by tray module ID, TrayIDinLoop=2 rate/cell by tray module ID, TrayIDinLoop=3 rate/cell by tray module ID, TrayIDinLoop=4




[ rate/cell by global module ID |
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rate/cell by tray ID, nHits/tray/ev>
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| nHitslev, ToT range |
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